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F£45-1 MBRECPREOEREKR: FEOHEEZRAELTOLETH 2 (RBTHT>TW D IEMEL-HEERDH)

SREE AR
Ho 2acks BN OHPHRE w24 ait
MR (%) HEER (%) HEE% (%)  HEE% (%)  HEE% (%)
m;E7ILTZA(Ab) 142 444 62 19.4 99 309 17 5.3 320 100.0
B8 S8E(TIBC) 66 206 67 20.9 156 488 3t 9.7 320 1000
EFESS AT (TH 36 113 41 128 202 63.1 41 12.8 320 100.0
mEHRANESOE V) (Hb) 282 88.1 30 9.4 5 16 3 09 320 100.0
B Mk #(WBC) 263 822 31 9.7 15 47 11 34 320 1000
¥ BRE(TLC) 82 256 36 1.3 166 519 36 1.3 320 100.0
BaLX7a—IL(TC) 282 88.1 32 10.0 2 06 4 13 320 100.0
FHEIERR(TG) 272 850 " 38 119 6 19 4 13 320 100.0
HDL-3L A TA—JL(HDL-C) 243 75.9 44 138 24 75 9 28 320 100.0
Mk 247 77.2 56 175 13 4.1 4 13 320 100.0
HbA,, 76 238 147 459 73 228 24 75 320 100.0
GOT(AST)E7=ILGPT(ALT) 281 87.8 33 10.3 1 03 5 16 320 100.0
e REZFRBUN) 194 60.6 57 1738 56 175 13 4.1 320 100.0
24B5RBIRPILTF=2 53 166 29 9.1 204 638 34 106 320 100.0
ILT7F=BREZH 22 6.9 26 8.1 235 734 37 116 320 100.0
CRP 55 172 103 32.2 133 416 29 9.1 320 100.0
ZTTETTT 74 231 60 18.8 162 50.6 24 75 320 100.0
+®45-2 MBECFREOERERR: TROBBZMNELTOUETA 2 (EBTIToTWLSI1EEELEHEEROH)
B REE &R
o, 2ACRE G BOHRE L | a5t
EER (%) MEERE (%) B (%) i (%) % (%)
;&7 ILTIAAlb) 1 200 0 0.0 2 400 2 40.0 5 100.0
a8 (TIBC) 0 0.0 0 0.0 3 60.0 2 40.0 5 100.0
MFFS A7) (TH 0 0.0 0 0.0 3 60.0 2 40.0 5 100.0
M HRANESOE L) (HDb) 5 1000 0 0.0 0 0.0 0 0.0 5 100.0
B i EREH(WBC) 3 60.0 0 0.0 1 20.0 1 20.0 5 100.0
1) SERB(TLC) 0 0.0 0 0.0 3 60.0 2 40.0 5 100.0
#aL XF0—)L(TC) 4 80.0 0 0.0 0 0.0 1 200 5 100.0
h 4 ERA(TG) 5 100.0 0 0.0 0 0.0 0 0.0 5 100.0
HDL-aL - XF7A—JL(HDL-C) 5 100.0 0 0.0 0 0.0 0 0.0 - 5 1000
Jiisk 5 100.0 0 0.0 0 0.0 0 0.0 5 1000
HbA,. 2 400 1 20.0 1 20.0 1 200 5 100.0
GOT(AST)E7=(XGPT(ALT) 5 100.0 0 0.0 0 0.0 0 0.0 5 100.0
e pRFZEFRBUN) 2 400 0 0.0 2 400 1 20.0 5 100.0
4B BRPILTF = 1 200 0 0.0 2 40.0 2 40.0 5 100.0
JLFF_UBREH 0 00 0 0.0 3 60.0 2 40.0 5 100.0
CRP 0 0.0 1 20.0 2 400 2 40.0 5 1000
ZTTETTT 1 200 0 0.0 3 60.0 1 20.0 5 100.0




#£45-3 MBEEFREORERR: TROFEBLMBLTLETH 2 (RS TM{To TS I1EEELI-EEDH)

HEREE
[, £ BIZEM 'i“gﬁ“%gﬁ% RS mRE a5t
MEER (%) HEER? (%) FEER (%)  FEERS (%)  FEE% (%)
ME7ILTZ(Ab) 0 0.0 1 33.3 2 66.7 0 0.0 3 1000
BEBIESEE(TIBC) 1 33.3 0 0.0 2 66.7 0 0.0 3 1000
MEFFSRTTY(TH 0 0.0 2 66.7 1 33.3 0 0.0 3 1000
M FRANESTOE)(HDb) 2 66.7 1 33.3 0 0.0 0 0.0 3 1000
B MERE(WBC) 1 333 2 66.7 0 0.0 0 0.0 3 100.0
B RERE(TLC) 0 0.0 0 0.0 3 100.0 0 0.0 3 100.0
£aLX7F0—JuUTC) 2 66.7 1 333 0 0.0 0 0.0 3 1000
4 ARRA(TG) 2 66.7 1 333 0 0.0 0 0.0 3 1000
HDL-3L X7 8—/L(HDL-C) 2 66.7 1 333 0 0.0 0 0.0 3 1000
s 2 66.7 1 333 0 0.0 0 0.0 3 1000
HbA,, 1 333 1 333 1 33.3 0 0.0 3 100.0
GOT(AST)F71=(LGPT(ALT) 2 66.7 1 33.3 0 0.0 0 0.0 3 100.0
M pRFZEFRBUN) 2 66.7 1 333 0 0.0 0 0.0 3 100.0
4BFREIRPILTF = 0 0.0 0 0.0 3 100.0 0 0.0 3 100.0
IL7FUBRGY 1 333 0 0.0 2 66.7 0 0.0 3 1000
CRP ' 1 333 0 0.0 2 66.7 0 0.0 3 100.0
ZTTETTT 2 66.7 0 0.0 1 33.3 0 0.0 3 100.0
®a45-4 MBLELPREOERKR: FROBEEZAELTOETMN 2 (ZIBTIToTVSILEELHEROH)
NEBEE
g0, 2/IckE B BOHAE L WA &t
MEER (%) FBE%; (%) e 2% (%) FEER (%) R (%)
mE7ZITZAAb) 3 60.0 1 20.0 1 20.0 0 0.0 5 100.0
AEkEE S EE(TIBC) 1 20.0 3 60.0 1 20.0 0 0.0 5 100.0
mEFRS AT (T 1 20.0 3 60.0 1 200 ] 0.0 5 100.0
hEFRANESTOE V) HDL) 3 60.0 2 40.0 0 0.0 0 0.0 5 100.0
B M ER A (WBC) 4 80.0 1 20.0 0 0.0 0 0.0 5 100.0
B R BRE(TLC) 2 40.0 2 40.0 1 200 0 0.0 5 100.0
#2L 2F7a—JUTC) 4 80.0 1 20.0 0 0.0 0 0.0 5 1000
P HEARIE(TG) 4 80.0 1 20.0 0 0.0 0 0.0 5 100.0
HDL-aL R 78— JL(HDL-C) 4 80.0 1 20.0 0 0.0 ] 0.0 5 100.0
M 3 60.0 2 40.0 0 0.0 0 0.0 5 100.0
HbA, . 0 0.0 3 60.0 2 40.0 0 0.0 5 100.0
GOT(AST)ES-ILGPT(ALT) 4 80.0 1 20.0 0 0.0 0 0.0 5 100.0
mpRFEZFRBUN) 2 40.0 2 40.0 1 20.0 0 0.0 5 100.0
UBERPILTF= 0 0.0 3 60.0 2 40.0 0 0.0 5 100.0
IL7FUBREHK ] 0.0 2 40.0 3 60.0 0 0.0 5 100.0
CRP 1 20.0 2 40.0 2 40.0 0 0.0 5 100.0
ZTTETTT 0 0.0 4 80.0 1 20.0 0 0.0 5 100.0




